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    Find the two unknown angle measures.  
 

1.    2.  3. 
 
 
                  
 
 
 
 
 
 
 
      
                                              
∠a =                   ∠c =                     ∠y =                       ∠z =                     ∠b =                    ∠c =                                                                    
4.  5.                                                         6. 
 
                   
 
 
 
 
 
 
 
 
 
  
∠y =                    ∠z =                    ∠r =                        ∠s =                    ∠a =                     ∠c =                                                   
 
7. 8.                                                             9. 
  
   
 
 
                  
 
 
 
 
 
	
∠c =                     ∠d =                   ∠p =                        ∠r =                   ∠l =                      ∠o =                                                                   
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     Answer Key:      
        

1. ∠c = ∠b = 430 

∠a = 180 - (43+43) = 940 

2. ∠z =  560 (isosceles triangle) 

∠y = 180- (56+56) = 680 

3. ∠b + ∠c = 180- 70 = 1100 

∠b = 110/2 = 550 

∠c = 110/2 = 550 

4. ∠y+ ∠z = 180-26 =1540 

∠y = 154/2 = 770 

∠z = 154/2 = 770 

5. Equilateral triangle	∠s = 180-60 = 1200 

∠r = 600 (equilateral triangle) 

6. ∠ACB = ∠ECD= 560 (vertically opposite angles)  

∠ACB = ∠ABC= 560 (isosceles triangle) 

∠a = 180-(56+56) = 680;	∠c = 560 

7. ∠d = 180-(48+60) = 180 - 1080= 720 

∠c = 600 (equilateral triangle) 

8. ∠p = 600 

∠r = 600 (equilateral triangle) 

9. ∠l = (180-48+48) = 1040      

∠O = 180-48 = 320 

∠LNM = 480 


